www.livetrap.com Manufacturing live traps and cages since 1925

714 Tomahawk Live Trap.

800-272-8727 PO Box 155 Hazelhurst, Wl 54531 715-356-4600

Dual Release Catch Pole
AVAILABLE IN 3, 4 AND 5 FT LENGTHS | aevoors,

THICK VINYL
COATED CABLE

!

PULL BACK RELEASE
KNOB INSTANTLY FORMS
NOOSE

I INSTANT RELEASE PIN

BITE GUARD, PROTECTS THE
NON-SLIP RUBBER GRIPS \ ANIMALS’ TEETH

FOR GREATER CONTROL

SLIDE CONTROL FOR RUBBER PROTECTED
POLE MADE FROM INSTANT RELEASE OF NOOSE POLE HEAD
LIGHT & DURABLE
CABLE RUNS THROUGH POLE TEMPERED BLUE
FORMING NOOSE AT OTHER ANODIZED ALUMINUM
END

REPLACING WORN NOOSE CABLE
@ Release the noose by pulling at the @ Remove the protective rubber from the @ Locate the pole head locking hex screw.

instant release. pole head. Unscrew it 3-4 rounds with a M2 size
hex wrench. TWARNINGT
Locking hex screw must
<"1 | be loose before pole head
é? ." disassembly or threads on
the pole may be damaged
P~
@ Unscrew the instant release cable @ Pull out instant release cable by the @ Disassemble the pole head by unscrewing
hex screw with a M2.5 size hex copper end-nut, about 1 1/2 to 2 inch it from the pole.
wrench. Extract the cable from end for enough clearance to disassemble
of the hex screw. the pole head.

Hex screw

2 w

@ Pull back the release knob and Unscrew the cable-joint nut. @ Unscrew the Phillips head screw, and pull
continue to release the cable at the out the cable from the noose end.

pole end until you see the cable-joint
read @ —
head
screw

Insert the replacement cable from @ Tighten the cable-joint nut onto the @ Re-insert the quick release cable until it is
the noose end through the pole replacement cable. visible at the head of pole.
head. Once inserted, mount the
Phillips head screw on the cable
end, and tighten it. 2
—

= <

@ Wedge the quick release cable at Pull back the cable from the pole end @ Tighten the pole head and then reverse

screw

the groove. The groove is located at until it is possible to reassemble the about 1/8 of turn. Insert the instant release
the head of pole. pole head. cable into the pole head and pull through
the other end as much as possible.
A? Continue the cable pulling and tighten the
o — — pole head.

@ Insert the quick release cable @ Tighten the pole head locking hex screw
through the end of hex screw. Pull with a M2 size hex wrench. Replace
the cable tight and then tighten the protective rubber onto the pole head.

the hex screw with a M2.5 size hex
wrench. Tug the end of cable into

the pole head cavity. Tighten hex

screw to secure

the pole head. 4?

REPLACING WORN BITE
GUARD

qg Follow steps (1) to (8). Remove the bite
guard and slide the new bite guard onto the
pole. Follow steps @ to @ to reassemble
the snare pole.



